EAGRAROBREERT — 2 N— ABISH —F

2020558248 (B) 4EI£R3H

Il S>%—# C16 (xwlw | mEmml - |5 6) o 8
[x&4£] 1% :270,000™ ~ 23#%&:7500M”  3#%&:37,000M  43%&:27,00MH . 573%&:21,000H
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o S0 | B 32, -1-1- 4| - BiSEE (2R)
1 3 KNy Z7X&1) XK 210 56.0E 1(3_2)8 1-1-1-1 ] 40.4 4 (4_639) flalgtcyriih
Rix>THXNAN B:O—-F>F>Va1— BERS
2 g 4 8 | MHEFE 1:32.8 8-7-7-6 |38.7| — 7 475 | EH—R (£R)
olglg| IV /ALY 56.0 (7%7) (-5 |REE
RN—YI54 B:I4—>I8=Z74 [PSdie ]
— s SHER : —-6-5- - £H—8 (£R)
3155 FwAYTL gy 4 6 =a 1.(3133.0 7-6-5-3 | 39.6 2 (5_313) Fc (
LA TAT v — BRTF—=FI14 b HET7—L
S S, it 4 | BARKR— 1:33.3 3-3-2-2 |40.5| — 3 404 | DIEEFIZE (£IR)
al7l 7| BEFZ>Va 54.0 (11/2) (3) | BB
R:4>hn—9 BTIVIVTLRIA47T [Ea=Fier]
N BEHRD :33. —-5-4- . — SEE_ (£R)
5 o | BT/ =TI 5 A51_0L 1(;/%1)4 5as w02 ° (4_228) RIEf
RNX—ANK B:aOZ7ILF 4=\ Hro—t€r
> 4 | BHBAX 1:34.2 4-4-5-5 |40.9| — 1 460 | =ERZ (£IR)
611117 56.0 @) (1) | BFHAER
L BATATv— Bihaor—Ib Godolphin
o) = 4 9 | AEE 1:35.0 2-2-2-6 | 42.3| — 8 425 | EHEX (£R)
7 4 TVFr4ILALR 540 @ C ) Tz REYay
kD42 B:TVF1TU X "HET7—L
TR 4 5 | REBLR 1:36.0 4-8-8-8 | 40.9| — 6 469 | BSF (£R)
sfe|v-EV=T2 56.0 ®) © | @ 7r—2rEvas
R:ErFOvY BUsTdrT4s—F1 H—L— - JviX> - T7—LARS
@ 1—F—@&BIEf
13=zr= 3,4,7,(1,2,6) ,5,8
23—+ — 3,4,7,1,2,5,8,6
Gal=7r= 3,(4,7),2,(1,5),8,6
43—F— 3,7,(2,5),1,(4,8) .6
[ RN
B OB 3 650M 714K 3-8 1,460M B = 3-8 11,080M 3ER 3-5-8 7,400
1 B 3 170 & 290 B H 3-8 16,700M JEH 3-8-5 58,060
8 560M 5-8 1,510
5 140M

ARICOVWTRDTEEERROODE. TR LI,




